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1) Why istheindifference curve convex to origin?
(A) Dueto continuous decline of marginal rate of substitution
(B) Duetolaw of diminishing marginal utility
(C) Dueto monotonic preferences
(D) Dueto continuousincrease of marginal rate of substitution
Bored, BBTe300D KBRE BROT, WeT TTEONTOTT?
(A) 20008 TEITRITWTS JTOBTON APTNDTONTVTTOOT
(B) a9m0D e[0T BdED AOPTROT
(C) HBTZ0D woOPYNOT
(D) 23008 TEATOITT ATOBzo0N  DTVTWNEDTOMIFYTBOOT

2) According toindifference curve analysis consumer isin equilibrium when

Boored, WTTEABON DFCRBOID TFoT ©TYPWEN0IN  0ITTN

RARBROTBYNZZ0TT
(A) MRSxy=Px/Py (B) MRSxy=Py/Px
(C) MRTSxy=Px/Py (D) MUx=MUy

3) ThelLaw of Demand impliesthat demand curve
(A) Shift leftward whenever the pricerises
(B) Shift rightward whenever the pricerises
(C) Slope down
(D) Slope up
23e@T QoW TIRRFAIYID, LIedT TeB0I
(A) &S TEsanmen 2 ong BORWIT
(B) &S Iggmmmnn wo geng @O
(C) a9=NDTNTIT
(D) £TBNDTONTBTI
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4)

5)

6)

When thetotal product curveisfalling,

(A) Themargina product of labour is Zero

(B) Themargina product of labour is negative
(C) Theaverage product of labour isincreasing
(D) Theaverage product of labour is negative
2D YOI, Bea3030 YYOINSToEIN

(A) BT 2emPOZ WY BRTTONZT
(B) 2T Aexmm0Z G0IIF) 90T ITONTOTTI
(C) TT FTRO WIIF) DTTDTONET
(D) =0T RToAO GBI ) 90T FONTIOTTI

A firmin perfect competitive market is

(A) Pricetaker (B) Pricemaker

(C) Priceleader (D) Pricefollower
TOTREOF FyTRCES B[IRTVFLIONY OTD YVTE Soﬁ@

(A) BSoDT), SRTDIRNIT (B) S0, ATFORITI
(C) BS0D TOPITNTOZT (D) S0, oDRORITI

A substitute is a good
(A) of higher quality than another good

(B) that isnot used in place of another good
(C) that can be used in place of another good
(D) of lower quality than another good

2O WBY AIB

(A) 25ed ATBNOZ e, TOEOTVEITONTOZTI
(B) el RTIT 2TLD WEFRL WPAY

(C) BeB BT WTED WHBLY TG

o)
(D) 3e8 ZITINOS IRTD MOBTNEITVNTOIT
W Q -

(P.T.0)
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7)  InProduction theory; in the long run
(A) All factor inputs change
(B) Only labour varies
(C) Only Capital varies
(D) None of the above
QOTT, %m@oécﬁ@ QEeTTOFRE R0TT
(A) QR WTITIONTG LTURMITT
(B) 3 [PT wTRMZH
(C) woBmed [PT WBOIMET
(D) RedT cImPD ©Q

8) Inwhichmarket therearelarge number of firmsselling similar but dightly different
products

(A) Perfect competition

(B) Monopolistic Competition
(C) Monopoly

(D) Oligopoly

03393 mdoﬁ%ojaeg ejxoméé emcszsﬁm@d% 2,0T3¢ O8O BTT @e& e3egode
ST 36%371%35301 VSRIORIK) mcsbagé

(A) =ompeos TFhoeed
(B) mogd0308 FFhmeces
(C) Dz,

(D) sonTmmy

9) InKinked demand curve model, the shape of MR curveis

(A) Slightly bent (B) Downward sloping
(C) Discontinues (D) U shaped

BROB WBeRE f%m@oédg MR deadod Z8mw

(A) 3R0TNTET (B) a9=00mN1STI
(C) ax 3[R (D) U Zge=mpnddass
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10)

11)

12)

The reason for U shape of Long run AC curveis

(A) Economies of Scale (B) Economies of Scope
(C) Discontinues of scale (D) Both (A) and (B)
QegFormod AC Besdod U - :o%ma-og 0D

(A) sRF3 WITOD (B) woes wo

(C) =HFE TJOH (D) (A) == (B) 20@w

Who isthe ‘lender of thelast resort’ in the banking structure of India?

(A) State Bank of India

(B) ReserveBank of India

(C) EXIM Bank of India

(D) UnionBank of India

RTIT pleLiny TRERoNY ofmdo“nol %@g WO FOTVS O 58033@7071)%63?
(A) Feer R0F ©S57° QORA®

(B) T8 ORTE 30T

(C) 287 07 5T QORBOI®

(D) cRRICHT 30T ©° QoRAD

Number of times a unit of money changes hands in the course of a year is
called :

(A) Supply of money (B) Purchasing power of money
(C) Veocity of money (D) Vaueof money

20T B[RFT VBIONY HEO AT, O %ej QTN NCIANIATY
DOTH FTORRMET.

(A) e TRTE (B) =cm 200¢D 33
(C) T Hen (D) meom &P,

(P.T.0)
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13) Cost push inflation occurs because of:
(A) Wage push
(B) Profit push
(C) Both (A) and (B)
(D) Ineffective policiesof the government
83 TTEOOWON FY IYT TEOTWLT FOW WIS
(A) He3T B
(B) wo3 303
(© (A== (B)
(D) ZFond IFOTORTO SN

14) Fiscal policy consists of government’s

(A) revenueand taxation (B) taxation and credit control
(C) expenditureand investment (D) expenditureand taxation
To%,; 30T Ve AFFOT FTNTIPYNTR, weieoRd

(A) ©0H DI gon (B) 30oR 02 @m0 2020
(C) e DB Terd (D) 20ede DB 301

15) What from thefollowing measures agovernment can taketo reduceinequality in
the distribution of income?

(A) Progressivetaxation

(B) Transfer payments

(C) Subsidize consumption of low-income groups
(D) All of the above

BTN DITHODY WFB[RTZODT), TR TPELD BFOFT FENT OIS FTZY
BRDERYTOTDY?

(A) =n8z=c 301

(B) =8 mmoF=m

(C) 38 STOD INFHOT IFTOONFI T
(D) &eds 2R
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16)

17)

18)

19)

The major issues of macro economics

(A) problem of unemployment (B) problemof inflation
(C) businesscycle (D) dltheabove
AT, STETOIT TIND SFODT QTOD

(A) ATBRER TF, (B) Beomoe)on A
(C) =T @3 (B) RIS NSOV

Deduction of depreciation from GDP gives

(A) Gross National Product (B) Net Nationa Product
(C) Net Domestic Product (D) Personal Income
2830, Tedeod WvIJNOT T[TY m;dsm& LTI TRTOINTHT

(A) e UO%}GOSD WIT, (B) & Uo%eoda SO
(C) Y Tedod wvI, (D) So03s swood

Algebraic sum of deviation from arithmetic meanis

(A) Positive (B) Negative

(C) Zero (D) Different for each other
©03 NedZ FTIFOWOT SNATIROT LCRNETTOZE WBOTT RRTH)
(A) 3=Es (B) s%m083

(C) 33 (D) =@ Bz

If, mean value is 20 and standard deviation is 5 than coefficient of variation is

00RO 23S 20 I BPTF WBOBOI 5 SADLTNR RTF TBTHEFRH
(A) 15 (B) 25
(C) 3 (D) 0

(P.T.0)
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20) Theterm “Disperson” means

(A) Vaiations (B) Fluctuations
(C) Scatteredness (D) Alltheabove
BDNE 20TT

(A) BN (B) £093ned
(C) B3m00= (D) 2093 2QIp

21) The Government introduced Navarathna concept in
REOF Ty IWTT, TOLOB|IONT), TOWCWAT [
(A) 1991 (B) 1994
(C) 1997 (D) 2001

22) The Food Corporation of Indiawas setup in
LOTBH STOT ANWOR) m@ﬁéoﬁmcﬁ DRE
(A) 1951 (B) 1955
(C) 1960 (D) 1965

23) The present RBI Governor

(A) D.Subba Rao (B) UrjithPetel

(C) Shaktikanth Das (D) Raghuram Ragan
{OTIT 30T, LIROFT TAT WPFL

(A) &. =y oo (B) ovise® Tedeer
(C) moz® wox (D) ST0F TonT®

24) G-7 refersto the group of
(A) Seven backward countries (B) Sevendeveloping countries
(C) Sevenindustrialized countries (D) None of the above
G-710z O3, BRI
(A) QD LOWPT TSN (B) o0 SISOIAENS T3e3ND
(C) O éémasb@w@@p TIe3NLD (D) F0edsT By ©Y
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25) World Health Organisation was established in the year:

26)

27)

28)

M -5408

ébg eﬁcﬁ@eﬁs xo,-\—"éom m@ﬁﬁoﬁmcﬁ DRE

(A) 1944
(C) 1948

Economic Profitsinclude

(A) Explicit costs

(C) Both (A) and (B)

BHET VP AT, WERROBT
(A) =F S

(C) (A) =03 (B) 20&»

At Breakeven point

(A) Total expenses = Total revenue
(C) Total expenses < Total revenue
2eBRRTT” WOTRITY

(A) 2 dz;s = W) BWOOD

(C) 2utd) F2 < eutd) STOOD

(B) 1947
(D) 1950

(B) Implicit cost
(D) None of the above
(B) =, Segnisd

(D) FH0edT By ©Y

(B) Total expenses > Total revenue
(D) Any of the above

(B) 2wt B2 > 2oed) STOD
%3 e
(D) DT SR TRTTR

The cost of onething in terms of the alternative given up iscalled:

(A) Rea cost
(C) Physical cost

(B) Production cost
(D) Opportunity cost

a‘b&%@m% TOIPFCD QRODTY 2,0 553&5 ﬁz;s &en wodaeromgd

(A) dzz &Y
(C) Bz 5

[9]

(B) wwznme &y
(D) w=w3 &5
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29)

30)

31)

32)

The supply function for a product isgiven by : Qs= 16P—5. A unit tax t isthan
imposed on the supplier. The new supply function becomes

200D YT T JeRT WOWTY) | Qs 16P—58N3. wvzmss H$ed t Tmmweass
TUT ébr?) TOICONT. BN TR 6% NOWTR)

(A) Qs=16P-5t (B) Qs=16Pt-5
(C) Qs=16(P-1)-5 (D) Qs=16Pt-5t

Demand Function of a product is given by D=a-bP, here b represents:

(A) Slope (B) Intercept

(C) Constant (D) Vaiadle

2.0 WITT Bewd Wwows D=abPsnd, @ bosm, BSOS
(A) 9w (B) ¢33

(©) %@mo% D) wBo

PQLI means

(A) PrivateQuality of Lifelndex (B) Public Quality of Lifelndex

(C) Physical Quality of Low Income (D) Physical Quality of Lifelndex
PQLI 20%3

(A) sooN 2BesS TOEaTdY B0

(B) momFxds 23esms Moo Nfazsaéoé

(C) 5983 220TIT BRDD LSO

(D) 5R&3 22eRT Moeosdyy AL0T

The invisible hand concept was found in

(A) Problemsof Capital Formation (B) Genera Theory
(C) Wealth of Nations (D) DasCapital
OTRE 3" TVOTOI oW WIHW TAF

(A) @339@:)3: ST WIS POTRCRT

(B) 238 OO

(C) 3 s77 JexT,

(D) mo= m2ues
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33) W.W. Rostow has developed the theory of

34)

35)

36)

(A) Investment (B) Stages

(C) Savings (D) Finance

W.W. Seedly TR TRAT AT08 0IR[YTOTI

(A) TR (B) @apa@@p TOBMLL
(C) vwoz0d (D) =¢ca30md

Karl Marx isidentified with

(A) Materialistic Interpretation of History

(B) Promotion of Private Investment

(C) Socid Investments

(D) Wefare State

TFERT F TR0, CBRRYTT R MNSTLRMTT 0T

(A) 23030 $P8% JITRTH (B) 23N Te®d wwdend
(C) m=0R3 BHRBE (D) =oede ooz

The First Earth Summit was took placein

(A) New York (B) NewDehi

(C) New Jersey (D) RioDeJaneiro
BRTOT PRIV ITT e

(A) SRERTE (B) == dm9

(C) Sw wae (D) ©c3n-&e5008R

Who wrote the book “Principles of Public Finance”?

(A) A.C.Piguo (B) R.A.Musgrave
(C) Ddton (D) Bastable
“TOTJFWAT BERTORAT MQJégﬂe;o” eI 50@@53& WTTRT?
(A) Q.. (B) sTf.0. IR
(C) mos (D) wzper

M -5408 [11]
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37)

38)

39)

40)

Utilisation of Surplus Labour was given by

(A) Adam Smith (B) DavidRicardo

(C) Arthur Lewis (D) Rosestain Rodan
THUDTO TONFTT WFIOD Wi BEYTITR

(A) s@o A& (B) Bl ovoBdes
(C) s3ro® Sax° (D) Sweexrdes® Snwmos

Which period iscalled ‘ Sustainable Development Decade’ ?
CIRT OREOD, DT VYRR T3F 200 FCHSRHFI?
(A) 2020-2030 (B) 2016-2030
(C) 2010-2020 (D) 2000-2015

Which one of the following is proposed in Peacock-\Weiseman theory?

(A) PriceEffect (B) Income Effect
(C) Substitution Effect (D) Inspection Effect
QT -WFHT ATOTTY IINT CRIYT, TETORTRNT
(A) &3S ZJomomd (B) =m0 I0m00
(C) Tedpes TWomowD (D) 3zoxm OO

Which one of the following isnot afiscal instrument.

(A) Public Expenditure (B) Open Market Operation
(C) Taxation (D) PublicBorrowing

3YNT IR I0FTT Feedecd MWFIRY

(A) mo=FwT 30 (B) =03 &[wdhses To0F ST
(C) 3on wéwfé (D) =oRFxd3 mHo©
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41)

42)

43)

44)

45)

Trade between the countries takes place if the cost of goods are in the
respective countries.

(A) undetermined (B) decreasing

(C) equa (D) different

@OSUO@&GOSD WVITT TWORYT DT TeBNY T WRNY 658 QN
(A) 2365 EOCSFONamﬁ (B) 3&z» faCT%ﬁ

(C) =mvenTn (D) 2R3, wmn

International Trade and Domestic Trade differ because of

(A) different government policies (B) immobility of factors

(C) traderestrictions (D) dltheabove

mmeo:b BB eﬁoémmo:b IPTTY BIF QTP

(A) ~d@d€5 degeQ mm (B) 23@56&3 YLRTITITOONNIY

(C) 00T =TSN (D) H0edT QIR

Which of thefollowingisinternational trade?

(A) Trade between countries (B) Trade between regions

(C) Trade between provinces (D) Both (B) and (C)

3PNT o303 wcgpéczciazool QT TVITPT DOTD FTORLRMDITI

(A) T DB BT FeING IWB (B) TR TTHeING SWAI 339300
(C) <T@ =oZNe IWRII @ s (D) (B) =2 (C) 20we

refers to the tax imposed on imports.
(A) Imported Tax (B) Tariffs
(C) Subsidies (D) Import quotas
SITNE 0eIT SONRONTY, DJOT FTOHRHIT
(A) =s=DOT 301 (B) =osnsd
(C) ocsonensd (D) s30T Beeed
IS the oldest International Trade Theory.
(A) Country similar theory (B) Theory of Absolute cost advantage
(C) Product life cycle theory (D) Merchantilist theory
0T T3 @oécﬁmmeo:b Nmos
(A) T5eOOD NDITRT m03 (B) JooexR [Pm IRV ATROZ

(C) eI 2w3geod wv3T Nmoé (D) ol Soxw ATROZ

(PT.0)
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46)

47)

48)

49)

50)

Agricultural sector contributes % to the total GDP of Indiain 2020-21.

2020-21 8 IRFTY Fu B 2ot TeHCD LTI, BeBTFIT BRWIODIY

QeRT
(A) 17.8 (B) 184
(C) 19.9 (D) All of the above

The present Vice Chairman of NITI Ayog is

(A) NarendraModi (B) RgivKumar
(C) Amitabkanth (D) V.K.Saraswath
NITI s0dens TRT w03

(A) TBeow Wwed (B) To2dearn&m00°
(C) @0z ooT® (D) .3 =073

According to 2011 census, density of population in the country is
20113 =Jneed TWFT m%cs TR0 BTHOTBOIW
(A) 289 (B) 352
(C) 382 (D) 412

The best source of finance to agricultureis

(A) Commercial Banks (B) Regiona Rural Banks
(C) ReserveBank of India (D) Cooperative Credit Societies
TR BDEOTHAT YOI WRO
(A) =0ede, IR0 (B) smT3ed3 mogneed IR0PNMD
(C) T3 3e0T, RO (D) ZxT00 To® FOTN
Thefirst state which implemented GST was
(A) Arunachal Pradesh (B) Assam
(C) Karnataka (D) Kerda
GST AT 23 e S0NR0NT, BRTL WORRPAT T,
(A) wtmvBEe TLeS (B) wmpo
(C) Boress (D) 3cos
® o o
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10.
11.

12.

WRRTRER B3Sned
£.20.5T°. @033 TYD 3R 50 TINTR, BROODT IJRED IRBT T,
TORFEI, DI QETSONT.
BRYTB TF, TATH), ey TOFR G0, TPRILOBIT  DWODE FOWOHATE
ROLVTI, TOHEDRT.
w23 wé%oja mada‘n nlgtclovilelniiiciolovite) DB @)%wgéomozs 8.200.87°. QVZT
m@oﬁaa‘n IBRINA :%ﬁm 8.20.50°. YT TYONY TTRT, [IELIOPTZY, 350850.
3R m%éo&oé Dey IRRBCDYT DT|TRTTY, B0 ésaf‘mmcjd, amé St
ToFOR m‘%@émws TRONTY  YVOWRME  TOTBNYR ﬁéojoiﬁmﬁ QesIe
%L BTINTLEED.
TOeBODH AHODTY:
&  TEIOIROTD TIODI, PNRZWOT L.OD.
b B& IBod IR QeRBNT Towy, v SoYNYY w308 FORH/ ARTT
NZTIR, IGFOR.
C) %.00.850°. TPORYT BOWORAT FTI0N = TYTOTHY, FOTRLDF N BVOWD.
NTPTTHN, BF, VDY TY, FosS, 83 “C" BooIRT wwITHNTT, ded /3T toe*
TOONOET T W L.D0.8T. YIT TOYOD T M0, 83 IN0T 38 FYNTOZ
30020:
3 %088 B @ @ O (T =0F) (2 TOWOLT I [N YoTdRN)
emédzﬁ wawgwdéosa 2TZEIROD, (BB 307) T3, BIFONY eBNAT 2D PRTY
mzﬁe mcézﬁeﬁa (80.00.83T°. em:%d m@oﬁa@ Mdmdm)
200 ADFF JB 0TIOS ézﬁa mgmwm MOSFRNT T, YOBHT YVZTB/I),
3T RO wam@xmmgd még O3RPTe WOBB, ARBLRNPRY. &.00.85T°.
TPONDT YVTRTBTFH SRCR.
VPR ) BRTR fme%md%ds QOF FHRAT %@GQ 20.20.83T°, TOPOD e Do
BIOTLICR.
ChTaleny waeiofn J03BT BRTE dvee%mdsaﬁ R 8.00.85T°. VBT T¢I
&%&m@@oﬁad o,j\%odao“sacl LoOTONT LR,
LB HFOI T3, TFIRI, T 8.00.8T°. VR HFOD TSI, T, B3 SNTDIRO
TRENLITOTR.
ST, TBewT® DI FRYT FRETY, TOCTY IRTROD ¥t WDTDSTRTDYHOL.
@waro:ba cﬁaa’%édeﬁ éracéﬁdaaj)m %océmodd WOTHZ WPHFODIY, BRCFER
w@ﬁsé Uorb@@@ ) AONTNY TFoT WOITH e.-m@?ods AT Em %mw@m@m
83 Tde3 JOeToRY SBETORED 2., 50 @osm@ SC/ST/Cat I @83@?71%‘50 3F 8
eﬁo%mfa’n OBC @zﬁ@rmﬁo LR 9 WOBNYIY, m:ég QBT @Zﬁ@&-‘ﬁ% BT, 10
@o-szﬁef,ﬂmel wcgofoézid% .
£.990.850°. TP, oWy BAWRNA
B3O3ROW TIJR 2.0T3¢ WO WFO0T BLRFTOT/IO0IIT YVITITIT.
BE TJ 20D F[ITRWW, [P, D OPTD T LS TR0 TIQ0T &I,
BOWIFIN, YITBIZ), WRTEBILY TOD Te3eR.
B TBRINTOB TR Fo0HTITOZ 3 I, FOTPEIF =N BOLVTHT.
8.20.80°. TYODY CIPFTE BTVTJF MNWNTI, SRBLCR.
SUBORE TITY 2.e3) Ro3cw, O.M.R. modedy) AMOTBADLT RRSY IHROTZR,
99me3Y O.M.R. 2o¢0dm), SPOBRTTY, BONRSDIOY.

Note : English version of the instructions is printed on the front cover of this booklet.




